A
o N

Architectural Testing

April 23, 2013

Samuel Park

Solar Clam-p

516 Lindenhurst Street
Philadelphia, Pennsylvania 19116

RE: Engineering Evaluation of Double Bolt Solar Clam-p
Dear Mr. Park:

At your request | have performed an engineering evaluation of your Double Bolt Solar Clam-p
product. The purpose my evaluation was to establish equivalence between this clamp and the
single bolt clamp that was the subject of performance testing as documented in Architectural
Testing report C1940.01-109-44 (Revision -, 10/03/12).

Whereas both the double bolt model and single bolt model use two identical bolts to secure the
panel, the restraint of the panel is equivalent between the models. Whereas the single bolt
model transfers load to the base through a single 1/4-20 bolt and the double bolt model
transfers load to the base through an integral bottom clamp, the restraint of the panel is
improved by the double bolt model. Whereas the anchorage of the base is identical for both
models, the restraint of panel is equivalent between models.

The load path for the Double Bolt Solar Clam-p provides restraint that is at least equivalent to
the tested single bolt model. Thus, the Double Bolt Solar Clam-p can be validated to the
product sizes and performance levels established for the single bolt model documented in
report C1940.01-109-44. If higher performance levels or larger product sizes are desired for
the Double Bolt Solar Clam-p, additional testing will be necessary.

ARCHITECTURAL TESTING, INC

A LeeL

Digitally Signed by: Joseph A. Reed

Joseph A. Reed, P.E.
Director — Engineering

JAR:jar

cc: C2294.01-122-34

Digitally Signed by: Joseph A. Reed

Attachments (pages)

Double Bolt Solar Clam-p Sketches (2 pages) 2013.04.23 10:56:14 -04'00'
Drawing D-001.01 (3 pages)

130 Derry Court

York, PA 17406-8405
phone: 717-764-7700
fax: 717-764-4129
www.archtest.com



d
'-'-.4..__/—

FIG. 4







PERIMETER -3
CLAMP —>®
o] 0]
| (I

o200 e %020 20 0%
e O O

O O]

[
'>.

' I NRIVAS Ve
Ve a0 Y6 e 2a e * 1%
= =R

———— 1

MIDDLE
CLAMP

Notes:

1. Location and number of clamps to ke
established ofter project-specific design
review,

Contents

Cover / Layout Sheet 1/3
Sections and Details Sheet 2/3
Components Sheet 3/3

Solar Clarp

D]6 Lindenturst 21, Fhiladelphia, FA 12116 2]15-822-5600

Solar Clam—p
Cover / Layout

SIZE | PROJ. NO. DWG NO.
B C2294.01 D-001.01

REV

seale NTS [P g9/10/12 SHEET 1 of 3




PERIMETER CLAMP
THROUGH CLAMP BOLTS

1/4-20 X 2-1/4" X 2
TOP CLAMP
PANEL
/_ BY OTHERS

2958

BOTTOM CLAMP
— —1

ROOFING
—> |— BaSE
EZ_ SEATe

_________ RAFTER

©

S5/16 X 6 HANGER BOLT

ROOFING

SHEATHING \

RAFTER

PERIMETER CLAMP
THROUGH ANCHOR BOLTS

1/4-20 X 3*

TOP CLAMP
PANEL
/_ BY OTHERS

‘_\BDTTDM CLAMP

BASE SLOPE

1/74-20 X 2-1/4" X 2
TOP CLAMP

PANEL
BY DTHERS\

ROOFING

SHEATHING \

RAFTER

CENTER CLAMP
THROUGH CLAMP BOLTS

DEEE9S

BOTTOM CLAMP

1/4-20 X 3* x 2

TOP CLAMP
PANEL
BY DTHERS\

i“\_

ul

S5/16 X 6" HANGER BOLT

ROOFING

SHEATHING\

RAFTER

CENTER CLAMP
THROUGH ANCHOR BOLTS

| g

BOTTOM CLAMP/

BASE
—>

Notes:

1. Anchor type, quantity and location to be established after project-specific

design review

2. Long leg of base shall always be to up side of slope.

Solar Clarp

D]6 Lindenturst 21, Fhiladelphia, FA 12116

Z15-822-5600

Solar Clam—p

Sections and De+tails

SIZE | PROJ. NO. DWG NO.

B C2294.01 D-001.01

REV

scaLE NTS DATE 09/10/12 SHEET

2 of 3




0.700" |‘1.500'.|
T, fama
2.750" O
1/4-20 x 2
= 1/4-20 x 2-1/4"
bolt with lock
’ —| |—0.250" T y
3,000 yp e s 1/4-20 x 3" bolt washer
with lock washer
Ll I
4.000¢ | Bill of Materials
Bose Item Material Quantity
1/4-20 x 3" Bolt 304 SS 1
2/16 x 6" hanger 1/4-20 x 2-1/4" Bolt 304 SS 2
bolt with lock nuts
P0313" x 2 1/4-20 x 2~ and goasketed 2/16 x 6" Hanger Bolt 304 SS 1
I B washer Bose 6061-T6 {
#0.375” TOp CLQmp 6061-T6 1
' 20.375" ~_ Bottom Clamp 6061-T6 1
) 4,000 ) 4.000
174" Lock Washer 304 SS 3
1.600” 1.600”
2/16-18 Hex Nuts 304 SS 2
O O
5/16" Sealing Washer 304 SS / 1
) 0.900" Rubbker
0.900 :
| ‘ Solar Clarp
0.750" 0.7507 oo 516 Lindenhurst St Philadelphia, PA_ 1216 215-822-5600
Stralght Knurlin
t northe 1 ) Solar Clam-p
Components
Bottom Clamp
Top Clamp SIZE | PROJ. NO. DWG NO. REV
B C2294.01 D-001.01 -
seae NTS  |™™ g9/10/12 SHEET 3 of 3




		2013-04-23T10:55:57-0400
	Reed, Joe


		2013-04-23T10:56:07-0400
	Reed, Joe


		2013-04-23T10:56:00-0400
	Reed, Joe


		2013-04-23T10:56:14-0400
	Reed, Joe




